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{(niT73 40) C/C++ n1din - 'R 7'7n

.(hmm 20 — N7RY 727) 4-1 NITNWAN "ap 0N 7y ny

1 N7RY

inl™3 1N95L 190 OV NN NPHNNN DAYV IO AMY MXMNY person NPINNA NN

class person{‘

pubilie:
//return true if name equal person.name
bool compare_name (const char *name)const;
int get_phong()const{return mPhoneNum; }
/ e

private:
char mName [NAME SIZE] ;

int mPhoneNum;

DYN DX PYTAN MISPNIN .person NON LPHINY DY NPNIY ANIND NYAPHA TPIPNS 12N
PXPNON NI DX .1 PINM NSV 190N NN DIOTN |19 ONXY ,OPMIINT 290V DYY DN
0 nm

person DIPVLH DXOPMIIN KV TWN NI NAPINNA DAYV 19D MN»H PhoneBook NpNnm
LTIVNN 9T DN

class PhoneBook {
publig:
person *book; //array of persons
int size; //length of array
Vi

PINM N OV DY DTN WOND MIPNN .0V PhoneBook 1MON LP»IIN NYAPHN MOPNS 121D
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2 n7RY
WOWN Mx»NRN | Triangle NPINHRN 711N
class Triangle( ‘
public:
//return true the triangle is similar to tri
bool isSimilar (const Triangle &tri)const;
void Rotate (double degree) ; ; =
void set(coﬁst Triangle &tri); //copy tri to object
void Print () const:
ARk
private:

V4
.DMYT DYNYNN DX NPTIAY THSPND 192D IPONNN

NN DTN TPIPNON D1 YWD, TIVAN JT1) NN, DYDY TV NoApNnn MIpNs1ny X (/P 10)
0NN YOHVRY DIMYTY TN DWIwNN I

401 DVYIIVYN TN test YWD ,TIVAN DT DN ,a DYIWYND DY TN NoaApnn Mmspnsand  .a  (/psr 10)
Aest WOIWND DMTN a™n DWIWNT 93 IN b TN P nyn mspnan b
ANXDIY DT DOVWAYHN 1900 DN PIND TPXPNAN
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4 7NV
NoNOY MNDNA YOP AT D X (/71 10)
char what (char c) { ‘
ifile<ra || eztzl)

return "ats;

cout<s<e;

G le== et 5,
cout<<endl;

else
what (c-1) ;

}

void what caller (char *str) {
while (*str 1= '\0'){
what (*str) ;

str++;

}

void main () {

what_caller ("abcdef") ;

arr TIWHN NN DTN PN XN, MYL M 1PNy mdna .2 (/pa 10)
(.DATINN NN NN PXAT TNN PR) MYV N2 Y IWRI NDATH TMINN NN »aon .1
JPIDAN DN PNY W TN MDD NN NI 19N A .2
void print val (char *arr, int size) {
ki) MBS
for(i=0; i<size; ++1i)

cout<<arr[i] <<endl;

void run() {
int arris]={1,2,3,4,5});

print val (arr,5);
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(niTii7a 60) VHDL - "2 770

(NITI71 20 — A7TRY 707) 10-5 NI7TRWA 'ap UITW 7Y 1y

library ieee;
use ieee.std logic 1164.all;

entity dff is

port (eclk, rst: im std logic;
d: in std logic;
g: out std logic);
end;

architecture rtl of dff is

begin
process (rst, clk)
begin
1f Fret="1"Y then 'gc= *0"*;
elsif clk'event and clk =
g<= d;
end if;
end process;
end;

library ieee;
use ieee.std logic_1164.all;
use ieee.std logic axith. all;
use ieee.std logic_unsigned.all;
entity test5A is

GENERIC

(Size: INTEGER:= 4);

portid, clk, rstil in std Jogic;

lll

then

5 N7RY

ON9Y MNONN NN
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g: out std logic vector (Size-1 downto 0});
end;

architecture for gen of test5bA is

COMPONENT dff

port (d, clie, rste in std logie;.q: out.std logie) ;

end component;

SIGNAL gSig: std logic_vector (Size-1 DOWNTO 0):= (others=>'0');

.SIGNAL dSig: std_logic_vector (Size-1 DOWNTO 0): (others=>'0"') ;
begin
d8ig(0)<=d;
out_loop: FOR i in 0 to size-1 GENERATE
boxs: dAff port map(d=>dSig(i), clk=>clk, rst=> rst, g=>gSig(i));
end GENERATE out_loop;
dsig(1l)<= gsig(0) WHEN gsig(3)= gsig(l) ELSE gsig(2);
dsig(2)<= gsig(3) XOR gsig(l) ;

dsig(3)<= gsig(l) XNOR gsig(2);

end;

TPIINN) ANTN TN YT-9Y NINT NIVIND DN INDND DWIN NI PNTNIIWWLID & (/P 10)
L"D90M9" M "DYORILPNTT DI DY DI NOMD

ANNY) TI2YY AYANN NIIWNNY NN .0PNIWY DI90HN NNONN Y DXXINT NNTO AN wmwlr .3 (‘P 10)
AP 19N 17 noapn d N0 070 (NP Reset
DMYNIN DXANNA 16 TIX 1NYI ,TPINNHD PN X7 DX .IINRNND DX IBYI ,TPINNN N 171T0 ON
.D2NNYYL DX 1PADN (0 9910) Ta02
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6 N7TNY

:)9NOW TIdINN AN
library ieee;
uge ieee.STD LOGIC 1164.all;
use ieee.STD LOGIC ARITH.all;
use ieee.STD _LOGIC_UNSIGNED.all;
entity div is
-{‘generic (size: NATURAL:= 4);
port stelk: MRiBUTe tret s in BIT;
input: in std_lbgic_vector(size—l downto 0) ;
div: by: out std leogic);
end div;
architecture div of diw is

signal count: std logic vector(size-1 downto 0} ;

begin
process (rst, clk)
begin
BESEat =S e
count<= input;
div_by<='0"';
elsif clk'event and clk = '1' then
1f eounit = 1 then
count<=input;
div: by<="0";
else
if count < SHR(input,"01")+1l then
div_by<='0"';
else
diw, by=="1" ;
end if;
count<=count-1;
end if;
end if;
end process;
end;
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¥ _count™? ©N2 div_by V97 JY D731 MM NN PN MNOIVA NN DHYNY ¥ 3 TY 'N )9NYY D2dyDa
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- count

D¥230 MM I VLD
div_by

v

NN YA DX DM IMIPNIY ,NDN3 IYHITIND TNYN DN ONIYNH

if count > conv _integer(input)/2 + 1 then
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library ieee;
use ieee.std logic_ 1164.all;
entity sm is

port (resetN, clk: in std logic;

din ¢ in std_logic_vector (1 downto 0) ;

dout :llout std logic) ;

end sm;

architecture arec sm of sm is

type state is (pre; bingo, post);

signal present_state, next state: state;

signal dsig: std legic:= “0";
begin

process (resetN, clk)

begin

if resetN = '1l' then

present state <= pre; dsig

elsif clk'event and clk = '1!

present_state <= next_state;

end if;

end process;

process (present state, din)
begin
dgig <= 10;
case present state is
when pre =3
Lf ddn = SR Ehen
next state <= bingo;
else

next state <= pre;

end if;

<=

then

- 16 -

IOI,.

7 NINY
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when bingo =>
dsigr <= Vs
if din = "10" then
next_state <= pre;
else
next_state <= post;

end if;

when post =>
if din = 00 then
next’ state <='pre;
elsif din = %“i11" then
next_state <= bingo;
else
next_state <= post;

end if;

when others =>
next_ state <= pre;
end case;
end process;
dout <= dsig;

end arc_sm;

.02NIVN DN 1PNI IMoore MON IN Mealy 1100 N1 112NN ONN

NN, ANND 239N (DYSNN) DIAYNN 22 IN MIND .ANINA IV DXIANNT INVNT IN 10VID
SN ANND INY MONI3 ONYY MONN

(DXN7) DI2YHT 72 IR PITAY IS MOINT .ANINT TN PITDY NV DY TIP 2IN2Y D70y
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8 N7NW

:VHDL 17512 1575 p¥onn 1m

LIBRARY IEEE;
USE IEEE.STD_LOGIC_1164.ALL;
ENTITY ent 18
PORINE LK, “rat s iR STD_LOGIC';‘
vecl, vec2: IN STD_LOGIC vector (3 downto 0);
veclOR2: OUT.STD_LOGIC__vector(l downto 0));

END;

NNV YXIN WK ,0OPN ONOPI DY 5T T IPNY TPXPN INDI 1Y) TPSPN9 130
DOV TPNN YOPIY vee2 — vecl :DMOVPI MY Pa

(T2 MM XMWY I, OIIIN NJ2N TPIPNN
veclOR2<="01" w (I-nvm2) vec2>vecl ox
veclOR2<="10" w (l'nyp2) vec2<vecl ox
veclOR2<="11" w (I-9mw2) vec2=vecl ox

veclOR2 < ="00" N>71 2T N1I1A
VN 1PADNY W OIN,ODMININ J33 WNNYND TWON

2INY IPNN NN DO (Package) 'N9°aN' 1aNI

13 YNNIV PPN INNPA IMOPYIIIN 1IN
23 N

T NNINA TN DARS ATPANY NN OMNIIPON DIONY rst NDNI 1> e
vecIOR2<="00"

SNNYTD MYTN D20 2 10N MYHN WYY MNN Y331 e

N

b

3

('p3 10)

(P21 2)

('3 8)

TIN D9 TPIINN N 1NN TIX PIADND ¥ .WITID NYNINND NNWANYI DIONIN TIPN PPN 9w PI1Ta5 0Hy

.03 DOYNIYNY ONNYHn

-3 -



2011 \°p — 90729 noxv

PNOY DN NN
LIBRARY IEEE;
USE IEEE.STD LOGIC 1164.ALL;
USE IEEE.STD_LOGIC_ARITH.ALL;
USE IEEE.STD;LOGIC_UNSIGNED.ALﬁ;
ENTITY test09A What IS -
PORT (clk, rst, inp: IN STD LOGIC;

otpi: OUT ‘std logic);
END ;
ARCHITECTURE arc OF test09A What IS

SIGNAL a, b, c: std logic;

BEGIN
otp < = (c AND b) WHEN (inp = a) ELSE (a XOR Db);
process (clk, rst)
begin
if rgt =1 tHen
a< = s bes N a0
elsif rising edge(clk) then
a<=inp XOR c; bg= a; e<= b AND a;
end if;
end process;
end;

Y DPIDNOTTIY NN 7NN DX IVVID

N

9 N7INYW
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LIBRARY IEEE;
USE IEEE.STD_LOGIC 1164.ALL;
USE IEEE.STD_LOGIC ARITH.ALL;
USE IEEE. STD_.LOGI C_UNSIGNED.ALL;
ENTITY test09B_What IS
PORT (clk, inpl, inp2: IN STD_LOGIC;
otp; QUT" std logic) ;
END;
ARCHITECTURE arc OF test09B What IS
SIGNAL a, b, \e: std legic;
BEGIN
" process (clk)
begin
if rising_ edge (clk) then

if a= b then

ce= . inp2; otp<= b;

else ¢<= 10';
end if;
end if;
end process;
b<= a WHEN inp2 /= inpl ELSE c;
a<= b WHEN (c = inpl) ELSE inp2;

end;

2N TP TTOY NINNN NN TN 10VID
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Q
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g(2) XNOR g(3);

Q
N
A
1]

g(3) WHEN d(1) / = d(3)

.ND0N NN

PN ONN0N 2230 MDY MIYD

.DOVIN 2NN TP 1IN PN
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